LINEA. EQuaTions (=)
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3x =7 = 23

Sx +3 = 2§
Bx =2 = 4x +1/0
I +17 = 27—
Qe =3 = T2+ 8
2% -§ = |6 -%x
2(x +3)= I8
4—(x-§')=8
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EXERQSE




LINEAR EQuUATIONS (2)

2x =77 = 213
3::).'—‘2.3-&7
Tx =30
x = 3o
3
x = 10
Sx + 3 = 2§
§x = 2§ -3
S = 22
= 2
Y

4x = 1%
x = )2
4
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EXERCISE
3x 7 = 27 -
3x +x = 27 -7

4x = 20
x = 20

4
x = &

x-'-'S"Jz—.

22 -5 = |6 -5

2% + S0 = IL+S

Tx = 2|
X = E_{
=

x = 3




LInEAR EquaTions (2)

2(14—3) = ¥
2% +¢ = I
2% = 18 —6
2x = f?.
x = 12
2
x = 6
4(>¢—S)=8
4dx —20 = 8
4% = B #+ 20
4x = 28
x = 28
+
x = 7
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EXERCISE

3(2x +7) = 30

éx +2| = 30

6x = 30 -2/
bx = 9
>x = 9
6

10x = 25 +1§
10x = 4o

x = 40
{0




